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1. The distance b/w 2 places is 1000 miles and a man has a camel which eats an
apple/mile. He has 3000 apples and want to transport from one to another. Camel
can take 1000 apples at a time. when reaching the destination how many apples will
be with him?

2. How many 3-digit numbers will be there which are divisible by 197
3. How many 3-digit numbers with atleast one 5 in their digits?

4. find the next term 0, 6, 24, 120, -

ans:210; each term is obtained by adding multiples of 6 with series 1,3,6,10,15

5. There is 12 perls. One of them is either light or heavy than others. There is a
weighing pan. How many trials are needed to find the exceptional one.

6. There is a work which can be completed by A with 12 days and B by 18 days. A
and B works together for 3 days and B left. After that how many days for A to
complete the work?

ans:7 days
7. 1992 Feb have 5 sundays. In which year, the month Feb have 5 sundays next?

8. There are 2 pots each filled with water and milk respectively. Some amount of
milk is poured into water pot and then the some amount of mixture in water pot is
poured into milk pot. which is true?

a. the amount of milk in water pot is greater than the amount of water in milk pot.

b. the amount of milk in water pot is less than the amount of water in milk pot.
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c. the amount of water in milk pot is same as that of amount of milk in water pot.
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d. cannot be determined.

ans:C

9. In a party there are women and cats.There are 18 heads and 72 legs altogether.
How many women and cats?

10. The sum of 25 consequtive integers (including negative, positive and zero) is
divisible by

a.5
b. 10
c. 25

d.

11. The headquarters of Huawei is at
a. Honkong
b. Shenzan
c. Shanghai

d.

12. In olden times man used to avoid attacks of Dinosour

a. using fire

b. Climbing the tree

c. Using weapons

d. None of the above
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( i don't understand the significance of this question)

13. There is a population of N numbers and each person in the population
shakehands with every other person. Which is true?

a. If N is even, even no of shakehands
b. if N is even, odd no of shakehands
c. if N is odd, even no of shakehands

d. if N is odd, odd no of shakehands

1. In a city, 80% speaks English, 70% speaks Hindi and 10% do not speak both. It
was found that 162 people talk both. How many are there in the city?

2. Find the missing humber: 0 6 24 X 120

3. There are 26 pearls in a bag. One among them is less in weight. You have been
given 2 pan weight machine. In how many trials, you will be able to find the defected
one?

4. There are 30 socks in a bag. 30% is in blue color. What is the probability to take
two blue socks?

5. In a party, every man has his dog with him. There are 22 heads and 72 legs all
together. How many men & dogs are there?

6. Find the missing number: 0, 0.577, 1, 1.732, ?

a. 0.656 b.2 c.2.743 d. none
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7. Two different types of tea are mixed, at 6 Kg of type 1 and 4 Kg of type 2. One Kg
of type 1 is Rs. 6 and that of type 2 is Rs. 7. The seller get 10% profit, by this
action. Find at what price, he 'd have sold the mixture/Kg?

8.There are 10 people in a party. "How many other people, you met?" is the question
asked to everyone. First person says 1, Second says 2, Third says 3.......... ninth says
9. Now what tenth person say?

9.The Distance between A to B is 1000 miles... A person has 3000 Apples ..He has to
deliver to the market in B, he is carrying Maximum of 1000 apples by the camel..
For every mile the camel eats a Apple ...Like that then u have to find out the number
of apples that he delivered to the market?

10. Mr x & MRS x and Mr.y and MRS y are playing a chess ..like that then the chance
of winning? Ans. (MR.y)
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